Fully-worked Solutions |

Formative Practice g

1 A Wrong
B Wrong
C Correct
D Wrong
Answer: C
2 (a) +2.8,4.35,-,9
12

(b) -6, 12, -0.07, —%

3 (a) -3 (b) 240 (o) 1.1 (d) -150
4 3,-7,-1,12,-19,+48,0
5 (a)

-5 4 -3 2-1 01 2 3 45

H—JH—J

(ii) Positive whole
numbers

(i) Negative whole
numbers

(b) Integers are positive whole numbers, negative
whole numbers and zero.
6 (a) Om (b) -850 m
7 (a)
-7 -6 -5-4-3-2-101 23 45 6

(b) -2 is greater than —7 or —7 is less than —2.

(c) =7,-5,-2, 1,4
8 —2-(+4)=-6

(c) 200 m

Answer: C
9 (a) +2
< I/:\I >
4 5 6
4+(+2)=6
(b) +5

(0 -3

-1+ (-3)=-4

(d) -2
b 3 4 s "
5+(-2)=3
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10 (a) _5

(b) +4

A
\

(©) +3

(d) 4

7 6 5 4 -3
-3-(+4)=-7
11 (a) (+4)x8=32
(b) (+6) x (=5) =-30
() (-9)x(-2)=18
(d) (-7)x(-3)=21
12

(a) -81+3 —~18

(b) -48+(-8) 12

(c) 72+ (+6) —27

(d) +90+ (=5) 6

13 (a) —27 +(-5) x (-8)
=-27+40
=13
(b) 13 x(=3) + (-42) + (-6)
=-39+7
=-32
14 (a) (i) 284+59+ 16 = (284 + 16) + 59
=300+ 59
=359
(i) 9x 608 =9 x (600 + 8)
=9x600+9x%x8
=5400+72
=5472
(b) (i) Associative Law
(ii) Distributive Law
15 Height above sea level
=726-25+39-54
=686 m

Intensive Practice Mathematics Form 1
Fully-worked Solutions

A1



R D G G S S S ® L0 (-31)4(-2)
-1 P Q 0 1 R S 1 1 2 9
4 (25
2 1 1 3
P=-%£Q=-—,R=—,85==2
39773 27 4 =3_3
Answer: C .
17 _15-5
9
2 1.1 1 0 2 11 2 33 -10
7 5 13 2% 91
_1l, _l, l, 1l, 22 = 1;
4 2°5 374
20
18 (a) 3+<—22)—l >
7) 3 2 S -IR o P 1 20 3
=3_16_1 P=05Q=225R=-075S8=—-14
703 Answer: C
_63-48-7 21 —-6.1,-4.73,-2.94, -0.1, 2.36
21 22 T. 18.11 - (=5.9) — (+20.3)
_8 =18.11+5.9-20.3
21 =371
(b) (l_l)x 12 II: (~13.8) + (=10.65) — (—~1.08)
6 7 5 =-13.8 - 10.65 + 1.08
7-6_7 =-23.37
= X —
42 "5 L 6.1 % (=3.7) - (-4.19)
1.7 =-22.57 +4.19
275 =-18.38
_1.1 IV: (-8.73) + (-10.38) = 0.6
"6 5 =-873-10.38+0.6
1 =-873-173
30 =-26.03
103
1 23 412=-2
(c) i—11+<—1—> 25
10 8 4 4
9 15 ( 5) 1.333 Y
10 8 4 2 1
-9, 4 9 9
10 8 5 Answer: B
9 .3
== 4+ 2 5) 2 19
24 2% (<2.04)+(-7)+(-2) = —Ex204+7x 2
10 2 3 ( )+ (=7) ( 19 3 5
=2+15 - _1.36+266
10 =2524
24
=10 25 i+(8—3i>x(—1l) =i+<8—§)x<—i)
b 12 4 3) 12 4 3
-5 2Ly (-4
12 4 3
=22 _5_17, 4
5 12 4 3
19 (a) ~- —l) L -5 17
6 12 12 3
= L + l)( 12 _ 5-68
2 6 12
1 63
=—4+2 = ==
2 12
51 __21
= 25 4
-5l
4
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Summative Practice 4

1 -9,-8,-5,-4,-1

Answer: B
2
< ¢ f f f f f f ¢ >
P 9 6 3 0 3 6 0
P=-12,Q=9
Answer: D

3 Ai(-2)+(-6)=-2-6=-8
B:(-6) - (-10)=-6+10=4
C:(+3)-(-3)=3+3=6
D:(+1)+(-5)=1-5=-4
Answer: C

1l—<—1i)
4 P9 _ 4 5
1

r 5
4

NS

+ &

5
21
4

:<£+E>+Q

4 5/ 4

=<25+24)><i
20 21

9,4

20 21

=77

5 3 15
Answer: A

5 3-(9) _ 3+9
9+(-6) -9-6
12

-15

Answer: D
6 a=38

b=2a

=2x8

=16

c=b-13

=16-13

=3

(a+b)+c=(8+16)+3
=24+3
=8

2
7 16-(-12)+=
-1.2)+3

—16+12x>
2

=16+1.8
=178
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8

10

11

12

13

1-ﬂx(i—0.8>
11" \6
:l_ﬁx<i_i>
11" \6 5
_,_10,25-24
11 30
110, 1
117 30
-1_- L
33
=32
© 33
(@) 60X 10.8X5 = (60X 5) X 10.8 rrvvrvvereerrrrrrrrre M
=300 (10 + 0.8)
=300 X 10 + 300 X 0.8 vrvevvvvveeees (1)
=3 000 + 240
=3240

(b) Step I: Associative Law
Step II: Distributive Law
724X 6+ 6%x357-6x%8.1
=6X724+6%X357-6x8.1
=6x(72.4+35.7-8.1)

—6x100
= 600
NENEEEE
8 12 7)78 12 7
ENTERE
8\ 17 7
7,122
8 1777
-3
17
(a) —3.7 = (~14.9) = —3.7 + 149
-112
(b 37-(149) _ 112
“16 16
-7
(a) 2% X3+ (-80.4) + (-4.8) = % X3+80.4+48
=675+ 16.75
=235
(b) 1l_£;9§_<_£)
6 24 4 \ 9
_7_13.39 .2
6 24 4 9
_7_13,4 .2
6 24 39 9
71,2
6 18 9
20-1+4
18
_24
18
_4
3
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